Pre-Calculus Midterm Review Part 1 Spring 2019 Name: _&j;w_}‘@q_,v
1. Convert 184° to radian measure. lBQ'l B
| 160’

T
2. Convert 10 to degree measure. T Ipg -
— — -
0o

3. State the reference angle for 1920, z
1900°- 260-36 .. = 20° ot L = (00°]
4. State a positive coterminal angle of i
27 = \Lw HAT 1w ° BSW o BT o T e W
. PN W) O U 0
5. State a negative coterminal angle of 10 —
1020 -360°-300°... =
6. Evaluate each of the following.
21 m
a. cos“l(—%J 12.0° or = d. cos'{%] 2,0° or T
il o
b. arctan(-1) -ys? or -:{ e. sin"[—f} (_’)bo or ’:'_‘I
|
c. sin"[—%J -2,0° or -I& f. tan"(\/g) UO" or 1’_‘;

Given the function h(x)=-7 cos(%x - %) 3, state each of the following characteristics.
7. phase shift Pn:qh'* T
L'
8. period (g-1T
9. amplitude T

10. sinusoidal axis ﬂ L

11. Evaluate. cos[sin" (—%D
e

wl&

-1,00
12. Evaluate. sin (arctan 1 —\/5 )) - \- fé
- (0° &

The diameter of a Ferris wheel is 176 feet, and one complete revolution takes 11 minutes. The bottom of the
wheel is 10 feet above the ground. Each passenger gets on the ride at the bottom of the wheel.

13. What is the highest distance above the ground that each passenger will attain during the ride?

14. State an equatlon that will flve each rider’s height above the ground at any time during the ride.

= -88cos(=t) +98



I5. The equation D ()= 8008(%1] +13 models water depth in meters in a seaport with ¢ = 0 representing
6:00 AM.
Clor (AM
a. What will the water depth be at 3 PM? - q \')OUrS )

8cos(F(®) 413

b. At what time after 6:00 AM will the water depth first be 8 meters? State your answer in hours
and minutes, and be sure to designate AM or PM.

5,72 hours after GAM  —> [1\:43 41

16. Determine the area of a triangle with side lengths a =13, =16, and ¢ =9.

gcly B \m(tw)(s)(w) e

17. Determine the area of a triangle given a = 90, b =28, and C =50".

=L (20)(es)sin50" -

18. Given A=121", a=15, and b =11, determine the measure of angle B.

19. Given a =14, b=17, and ¢ =7, determine the measure of angle A.

M'L =17t -I—')z —-2,(_17)(7)C039




Pre-Calculus Midterm Review — Part 2 Spring 2019 Name: Ahj wer ke'\TL

20. Use difference formulas to determine the exact values of sin(lS"), 003(15"), and tan(lS“ !
Sin15°= Sin (150°- \35°) = SinI50°Cos135°— CosI50°Sin135° = (%)(4.3)- (
Cos|s’= COS (225°—alo°)= Cos225°CosZl0’ + S\'nazf"s-‘n 210° = (

tanus’~tanze - 1~ G _ V3
0. 0_np0) - = A X
Tons's Fan(us-30) = TRl = =
21. Use a sum formula to determine the exact value of tan165". \ri\f:' |
, 4LV
Tan (135 +a0) = l’i-oﬂ%_*:___d‘im’a - ~I7g
= Tan135" r4n30° =
~E0&) —— =
Rl 5 1+V3
, ot 1 V3
22: . —sin" x )=
Justify (tanx)(cscx)(l sin x) —
E&- . l . COS‘ -
Oy SR
COSX =
b = A
o SE€CX seex
23. Simplify. cos(?+9]
Cos %ﬁcme ~SinSinG
0 «CasQ — (—-I)St‘ne = 0 +Sng =
24. Justify. 2sinx(secx —cosx)=2tanx —sin2x .
2inx(go5x ~C00% ) = 2sinxcosx z Sin2x  (dovbk angle udﬂm},'#})

280X _ 25iNXCOSY =
cosx T

25. Solve 4coszx-1:'00n0Sx<27r.

2cos "><,+|"-'o 2¢08 x=-1=0

—~> 2tany -Sin2x = V7

’ ..—.1 = 1

26. Solve 3tanx—+3=0. CO08X= 73 CoSx = 7
- VB <2 - 1 &7
'\'anx——_-g-’ X -5,‘%" x‘g;/

Xz '% +TK X%" a,lfl@d\/ aceoinded Eorin 1 go/U*:'dn wi'th + k.
27. Solve cot’@—-1=0on 0° <8 <180".
lezé =|
cotg = 1|
where does €88 = 417 yg® and 135

sin@ !



wlg

28. Solve. 4cos@sin@+2cosd = 0. &= ,3._- and %[ ! 'l'g-r

. 2
Zcose(zsmo +1) 70 lim
No estrichion: T+7Tk , T yomk, T4

2¢c086=0 2Smé +|-'—‘(IJ o

cose =0 S8 =7z
29. Determine sec24 if sin 4= T and angle A4 is in quadrant I.

Coshh = il?- % TUnas cos? A then p)fp_

211 13
)

Xzl
49 |

l AR SENT
7 : ©oxt88 €05 LA= COS*A -Sintp -
A x = Vg5 ___(ggz _g)z__gj__s_g:
V85 Iy (“ Tl

30. Determine the exact value of cos(a 1t sma—— 0<a<_ and cosﬁ—— —<ﬁ’<27r
7| @L

7 CI:
49 +x* 8] St‘nﬁ z COSGCCOJ + ShaSinB
(4)%) + (%)

q 13

208 - 89

(177 17



